202341 48 7|2 HSEZIH] FBLI(4.16. ~ 4.30.)

NELT Iy (= NER(HA) AR SPET] oIg () Fyz ()

a3 =0E o me EE] 1 50,000

2023-04-16 | XY OfH AL B=3tet (B 1811-2333) oo = A
stz =0 2o =g EL 1 60,000

2023-04-17 | XY OfH AL B =3t (B 1811-233) oo = A
stz =0 2o =g EL 1 50,000

2023-04-18 | XY OfH Al B =3t (B 1811-2333) oo = A
stz =0 2o =g EL 1 60,000

2023-04-19 |=I%1 OfHA} Bxsta (= To1r233) oo m !
stz =0 2o =g EL 1 50,000

2023-04-23 |X% OjHA} Bxsta (= To1r233) oo N !
- BnolE o 017 1 50,000

2003-04-24 |QFHBZABAK} = 5t5te (5 18112939) OF R 5 24 2 2 T 7
stz =0 2o =g EL 1 60,000

2023-04-24 |X1% OfHA} H=sta (5 1811293) 2o m 5!
- BOlE e xe | 5401 % 1 50,000

2023-04-29 |XI% OfHA} Hxsta (5 18112930) 2o " p!
- BnOlE e xe EL 1 50,000

2023-04-29 |XI% OjHA} Hxsta (o 18112930) 2o " p!
- BOlE e xe | 5401 % 1 50,000

2023-04-29 |XI% OfHA} HxstE (5 18112930) 2o " p!
- BOlE e xe EL 1 50,000

2023-04-29 |XI% OjHA} Hxsta (5 18112930) 2o Hg 5!
2023-04-18 |=9 OjZAF H=2 2o x sz 1 50,000
2023-04-29 |X9 OjZAF H=B 2o x sz 1 50,000
st2 =0iE zo mg EE 1 50,000

2023-04-30 |X19 OjZHAF Hz=stE (o 18112330) 2o " 5
- JiE -3 . Jlc _
A < HEOIM 12 @ « AZOIH 630,000
D= 2 g == 100,000
A 730,000




